

PHULWARI SHARIF, PATNA For relief and rehabilitation

#### Bihar floods 2017 Emergency Relief Appeal

#### Flood Effected areas of Bihar



Respected Brother in Islam Assalamo Alaikum Warahmatullah

May Allah bestow his glorious upon you and your family!

Indeed you know about the devastating flood in Bihar. Heavy rainfall in Bihar led to the overflow of major rivers like Mahananda, Koshi and Kankai that caused flooding in several districts in Bihar. The floods have washed away thousands of huts, badly damaged buildings, roads, bridges and standing crops worth crores. Kishanganj, Araria, Purnea and Katihar are worst-hit by the floods where thousands have been displaced. About 14.3 million people in Bihar have been affected as per the government reports across eighteen districts. Several towns of Araria, Purnia, Kishanganj and Katihar districts are witnessing unprecedented levels of water. **Rail connection has been disrupted.** some Railway stations are flooded.



PHULWARI SHARIF, PATNA
For relief and rehabilitation



Many villages have lost road connections. Army and IAF teams have joined the NDRF team to rescue people and help with the crisis. Lakhs of people are stranded and have taken shelter on canals, school buildings and places of higher altitude. People were not forewarned and that has made the situation worse. The cause of the floods is heavy rains in the catchment area of several rivers that flow in this region (catchment area is in Nepal) and that causing breach in embankments of rivers and canals.





PHULWARI SHARIF, PATNA For relief and rehabilitation



It is the worst ever flood since Last decade. There is pain, anguish and cries. The other worst affected districts are Madhepura, Supaul, Saharsa, Darbhanga, Madhubani, Samastipur, Sitamarhi, Muzaffarpur, Sheohar, Gopalganj, Saran, Siwan, West Champaran and East Champaran, forcing people to move to safer places. River Koshi, Mahananda, Barhamputra, Budhi Gandak and Balan and other rivers have been flowing above the danger mark. Losses of human life are more than 500 and thousands of livestock and all crops have swiped off. Almost all roads, major and minor are cut off and over more than 20 bridges washed away hampering the rescue operations. the magnitude of problem is very large. The aftermath of floods will bring the threat of malnutrition, diarrhea, water-borne diseases like cholera and dysentery, and psychological stress. Drinking water and sanitation remain a challenge even if one is living in a relief camp.

Volunteers with Army, Police, Government and locals are doing rescue work and evacuating. Community kitchen has been arranged by the Imarat Shariah local relief committee and other local Volunteers for food and other essentials. Now we need to work for rehabilitation and relief.



PHULWARI SHARIF, PATNA
For relief and rehabilitation



I Appeal to you and all well wishers of the community the next best thing you can do to help and support to provide financial and material help. The victims have lost everything, their homes and the entire belongings. Alhamdulillah Allah has given abundantly more you needed. You do not have to sacrifice your daily food and clothing in order to donate towards cause. As human being, we should not let this suffering continue without providing help and support according to our individual capabilities. Do not wait for your Zakat to become due to make a donation.

Emerging needs are emerging for provision of humanitarian service, food, health and shelter.

We are active in the worst affected districts in Bihar and are working on-

- 1. Providing food packets (including Rice, Dal, oil, Salt, Suger, Biscuits, Chura, Jaggery Match box, Candle, Dry Milk, Gram, Plastic shade etc)
- 2. Renovating and installing new elevated hand pumps to supply clean drinking water even in high water levels.
- 3. Building toilets.
- 4. Providing relief, shelter and hygiene kits for daily survival needs. But we cannot do this alone. We need your help. Your support can help change lives.
- 5. Distributing Blankets before winter.
- 6. Doing Qurbani of big and small cattle



PHULWARI SHARIF, PATNA For relief and rehabilitation



I appeal for the donation in aid of flood victims. Your support will reach to the victims in Bihar through the networks of Imarat Shariah Phulwari Sharif. Indian donors will be able to avail exemption under Section 80G of Income Tax Act. Imarat Shariah is also authorized to receive foreign contribution under FCRA.





PHULWARI SHARIF, PATNA
For relief and rehabilitation

### Relief works of Imarath Shariah







PHULWARI SHARIF, PATNA For relief and rehabilitation









# PHULWARI SHARIF, PATNA For relief and rehabilitation

#### **Emergency Relief kits**

#### Non food Item

PARTICULARS	UNITS	UNIT COST	TOTAL Rs
Hand Pumps	500	10000	5000,000.00
Huts (400 Sq ft. including	500	50,000.00	2,500,00,00.00
2 rooms and toilet)			
Blanket	100,000	370.00	3,70,000,00.00
Medical Camps	10	100,000.00	10,00,000.00
Total Cost			6,80,00,000.00

#### **Food Item**

PARTICULARS	UNITS	UNIT COST	TOTAL Rs
Food Kits (including	10,000	750.00	75,00,000.00
Chura, Gur, Rice, Gram,			
Sattu, Candle, Match box,			
Biscuits, drinking water,			
Dal, sugar, salt, dry milk			
etc)			
Qurbani of small cattle	500	8000.00	40,00,000.00
Total Cost			1,1500,000.00

#### **BANK INFORMATION**

Bank Account No.	10331726226
A/C Holder Name	IMARAT SHARIAH
Bank Name	State Bank of India
Branch	Judges Court Road(JC Road), Patna
<b>Branch Code</b>	1233
IFSC Code	SBIN0001233
MICR Code	800002022
FCRA Account No	0324010100000055
FCRA Account Name	IMARAT SHARIAH EDUCATIONAL
	AND WELFARE TRUST
Bank Name	Jammu & Kashmir Bank Ltd.
Branch	Phulwari Sharif, Patna-801505
Bank Code	JKB
Branch Code	SHARIF
IFS Code	JAKA0(Zero)SHARIF
Swift Code	JAKA IN BBCPD